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An update of top to stop analysis

• How to estimate W->eν cross section?
• Why the w to eν cross section I used is so big?
• Next

• Choose an channel related data sample:  
trigger em1_eistrkcc_ms: events of mEt>25, Et>25(CC) Et>20(EC) pass electron 
quality cut: |eta|<1.1: L5<1.0;Fiso<0.15;    1.5<|eta|<2.5: L4<1.5,Fiso<0.15;

choose 4 good jets:0.1<emf<0.9;chf<0.4;|eta|<3.5;Distance with two electrons >0.5,
Et>20GeV and isolated from two electrons;

two EM clusters has transverse mass in 20<Mt<120 ==># of events: N(data) 
• Choose w->eν Monte Carlo sample: 

apply all the above cuts except electron quality cuts ==># of events N(mc) 
• Choose Z->ee data sample (trigger em2_eis2_hi):

pick first two leading electrons: the tagging electron satisfies quality cuts and
Et>20(CC) or Et>15(EC), probe electron satisfies |eta|<1.1 and Et>25
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W->eν cross section estimate

• Choose 4 jets with good quality cuts and Et>25GeV
calculate invariance mass of the two electrons before and after apply electron ID 
cuts to probe electron: L5<1.0;Fiso<0.15
the ratio gives the efficiency of electron quality cut
W->eν cross section can be derived by
N(data)=(luminosity of data)(w->eν cross section)

(efficiency of electron quality cut)N(mc)/
N(total # of MC sample)

• luminosity of data sample: 94pb^-1, efficiency of electron ID cut ~ 0.55
N(data)=116, N(mc)=989, N(total)=35501, cross section~80pb

• Using branching ratio, we can get cross sections for w->µν, w->τν and τ
hadronically or leptonically decays. 

• I  use w->eν cross section= 96 pb, a CDF results~3.1, 30 times smaller !!!
• Compare data (histogram) and MC sample (point),there are certain excesses, they 

are background of w to eν: QCD, w->τν, Z->ee, top and promotion.

All my w+jets backgrounds should be reduced by a factor 30
How about Z->ττ and Z->νν cross section? Reoptimize my cuts.
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